Ne ApTUKYN HanmeHoBaHue Kon
1 CanbHuK 17x28x5 2
2 |90-0454 MNogwnnHuk 6203 2
3 BuHT M5x45 9
4 KapTep npaBaa NonoBMHaA 1
5 AmopTusaTop 2
6 KapTep nesaa nonosuHa 1
7 Bbikntouatenob 1
8 *okx MpoknaaKa KapTepa 1
9 Wrnot 5x14 2
11 Ban KoneHyaTbIn 1
* 1911-696-001 |KapTep B cbope (1-11)
** 1911-696-018 |Habop npoknagokK
Mogenb
Pe3uynK 6eH3MHOBbIN GS 400
Technical department Assembly drawing

Engineer, chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA

Page 1




Ne ApTUKYN HanmeHoBaHue Kon
1 |911-696-017 |bonT 6
2 JINCT OXNaXKAatoLLLniA 1
3 * MpoknagKa rnywmnTens 1
4 1911-696-020 |Faywwutenb 1
5 * MpoKknagKa umanHapa 1
6 [911-696-011 [UmnuHap B cbope (6, 12-15) 1
7 LWalba 1
8 KnanaH AeKoMnpecCcUOHHbIM 1
9 LWaliba 1
10 |911-696-026 |bonT 1
11 Ban KoneHyaTbIl 1
12 KonbLo ctonopHoe 2
13 MopweHb 1
14 Konbuo nopwHesoe 2
15 [911-696-015 (MoAWMNHUK UronbYaTbIM 1
16 MNanew, nopLHA 1
* 1911-696-018 |Habop npoknagokK
Mogenb
Pe3uynK 6eH3MHOBbIN GS 400
Technical department Assembly drawing

Engineer, chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA

Page 2




2
o

ApTUKYN

HanmeHoBaHue

Kon

bont

911-696-136

PemeHb

911-696-137

LLKuB

911-696-138

LWaiba

911-696-139

Kopnyc

BuHT

911-696-141

laliKa cneumanbHas

911-696-142

larka M8

©lo|N|o|u|s|w n|-]:

911-696-143

Konbuo

[EEN
o

90-0404

MogwnnHuk 6202-2RS

[any
[y

911-696-145

BTtynka

[E
N

911-696-146

Ban

[EEN
w

BuHT M5%20

=
o

911-696-028

Koxyx

[E
Ul

911-696-029

CuenneHune

[EEN
[e)]

911-696-034

LLKuB

[E
~N

911-696-035

MoAWMNNHUK UroNbYaTbIl

[EEN
(o]

911-696-036

BTynka

Rk, RrIN[RIR[NM]RINMIR|WRR[R]R ([~

Pe3yuk 6eH3UHOBbIN

Mogenb

GS 400

Technical department Assembly drawing

Engineer, chief designer John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA Page 3




Ne ApTUKYN HanmeHoBaHue Kon
1 [911-696-046 |Odednektop 1
2 |911-696-047 |CrapTep B cbope 1
3 WKue ctapTepa 1
4 MpyunHa cTapTepa 1
5 1909-006 LLHyp cTapTepa 1
6 |90-0864 Pyuka ctaptepa 1
7 BuMHT M5x20 4
8 |P7Y Cseya 3axkuraHuma 1
9 1911-696-038 |MarHeTo 1
10 BuHT M5x20 2
11 BUHT M5x12 1
12 Mposos 1
13 MNposoy, 1
14 lanka 1
15 LWalba 1
16 |911-696-045 |[MaxoBuK 1
Mogenb
Pe3uynK 6eH3MHOBbIN GS 400
Technical department Assembly drawing

Engineer, chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA

Page 4




2
o

ApTUKYN

HanmeHoBaHue

Kon

911-696-060

XomyTt

911-696-061

KoneHo pe3nHoBoe

911-696-062

Konbuo

911-696-063

LWnaHr

911-696-064

CTolKka

BuHT M5%16

911-696-066

Kap6topaTop

911-696-067

BcTaBKa

kOOO\lO'\U’l-bUJNI—\l

911-696-068

Pbiyar

911-696-069

TAara

BuHT M5%55

911-696-071

MaTpy6oK

LWnaHr

911-696-073

Apantep

RIR[mIN[Rr|Rr[RrR|lWRr]|R[R ]|, |~

Pe3yuk 6eH3UHOBbIN

Mogenb

GS 400

Technical department Asse

mbly drawing

Engineer, chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA

Page 5




Ne ApTUKYN HanmeHoBaHue Kon
@ 1 BuHT M5%20 1
2 BcTtaBka 1
3 |911-696-085 |AmopTusaTop (1-5) 1
4 BuMHT M6%30 2
5 BcTtaBka 1
6 Wrnot 1
7 Wrnot 1
18 -‘-’i 25 26 25 25 8 Pblyar 6/10KMpOBKMK rasa 1
9 |911-696-083 |[Pyuka 6ak B cbope (1-27) 1
10 MpyxunHa 1
11 KypokK rasa 1
12 MpyXKnHa 1
13 BcTtaBka 1
14 KHonKa 1
15 [911-696-086 |AmopTmsaTtop (4, 15-17) 1
16 BcTtaBka 1
17 BMHT M6x16 1
18 BuHT Mx20 2
19 NoBoaok 1
20 MpoknaakKa 1
21 [911-696-084 |Mpobka (19,20,21) 1
22 CanyH 1
23 BcTtaBka 1
24 1911-696-087 |AmopTusaTop (18,23,24) 1
25 Wnanr 1
26 CanyH 1
27 (90-0671 dunbTp TONNNBHbIN 1
Mogenb
Pe3uynK 6eH3MHOBbIN GS 400
Technical department Assembly drawing
Engineer, chief designer John Emerson Jr.
DYNAMIC DRIVE EQUIPMENT, USA Page 6




ApTUKYN HanmeHoBaHue Kon
1 [911-696-153 |lWnaHr nogaum Boabl, Habop (1-8) 1
2 3axum 5
3 TPOMHUK 1
4 Wnanr 1
5 BuHT ST2.9%6.5 2
6 LWnaHr 1
7 KpaH 1
8 LWnaHr 1
9 [911-696-122 |Konbuo 1
10 [911-696-123 |Koskyx (10-12) 1
11 Pyuka 1
12 BuHT M5x20 1
13 [911-696-130 |Wai1ba 1
14 (911-696-126 [KonbLo pe3nHoBoe 1
15 [911-696-127 |®naHey, 1
16 BuHT M5x16 3
17 [911-696-129 |lWaiiba 1
18 [911-696-131 |Wainba npukMmHasa 2
19 [911-696-132 (BtynKa 1
20 Bont (20,21) 1
21 LWaiba 1

Mogenb
Pe3unk 6eH3MHOBbIN
GS 400
Technical department Assembly drawing

Engineer, chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA

Page 7




Ne ApTUKYN HanmeHoBaHue Kon
b 1 BHT M6%30 2
2 BMHT M6x20 1
3 |911-696-112 |Pyuka 1
4 BcTtaBka 1
5 BuHT M5%20 1
6 [911-696-113 [AmopTusatop 1
7 BcTtaBka 1
8 BuHT M6%45 2
9 [911-696-118 |KpoHWwTENH 1
10 |911-696-119 [(AmopTusatop 2
11 LWaiba 2
12 BMHT M5x12 2
13 BuHT M6x90 1
14 [911-696-147 |Kokyx B cbope (13-18) 1
15 bont M8x40 2
1 16 MnactnHa 1
17 laka 1
18 Mpy*nHa 1
Mogenb
Pe3uynK 6eH3MHOBbIN GS 400
Technical department Assembly drawing
Engineer, chief designer John Emerson Jr.
DYNAMIC DRIVE EQUIPMENT, USA Page 8




2
o

ApTUKYN

HanmeHoBaHue

Kon

BuHT M5x45

911-696-075

Kpbiwka

911-696-076

®PunbTp NpeaBapUTENbHbIN

911-696-077

YnnoTHeHue

911-696-078

Kpbiwka

TJ]-GM-312

®PunbTp OCHOBHOM

911-696-080

MpoKknaaKa

BuHT M5%30

kOOO\lO'\U’l-bUJNI—\l

911-696-082

KpbiwKa

RIW[lRr|Rr[RrRrR,~]N

Pe3yuk 6eH3UHOBbIN

Mogenb

GS 400

Technical department Asse

mbly drawing

Engineer, chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA

Page 9




